. Explain the ACID property in context of

Transaction.
TR & T H ACID 79T &1 A Hifse |

. What are the characteristics of MIS ? Explain

various functions with suitable diagram.

MIS =t foRremmd o= € 2 Suged o & qig fafie

1Al ! SARST HITSTT |

. What are the advantages and disadvantages of
ERP system ?

ot faen & wEg SR JHEE = ¥ 7

. Explain different statistical packages.

fafimr statistical Yshsit &1 =T HifST |
. What is Electronic Data Interchange ? Explain

working of EDI in detail.

Electronic Data Interchange M & ? IStemE i
FHTIYUMET hl TR 9 sqEy |

. Explain different Protocol Layer of Bluetooth.

=g & fafie didehla dEX i sared Hifs |
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given

instructions.

T .- o' gv-u= ‘e’ eIk ‘9’ ] el | fawifsa ®1 o

TUe % RITER Y9 & IW
Section-A 4x1%,=7

(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the questions delimit your answer in one word,
one sentence or maximum up to 30 words. Each

question carries 1% marks.
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1. (1

(ii)

(iii)

(iv)

v)

(vi)

CS-01/4

[US—3A
(afa oy ST uv)
frdl o gvel & SW AN e AT WA

YHER U T, UH g A1 AfeRad 30 vl o
qfidifqa HIST | T 999 1% 3Rl o1 § |

Describe the working of Transmitter.
TFHIR & HT™ HT TR HIST

What do you mean by Software ? Write any
two types of software.

WA § 3T 1 999d © 2 HIE o THR &

gy fafen |

What is Information ? Describe with suitable
example.

Information 1 ¥ ? ITIE QTR0 & e 0
R |

Define OLTP with suitable example.

OLTP okl 39K IQMEL0 & 19 IRYIoA Hifsg |
Write the name of any rwo ERP Vendors.
f&=t @1 ERP Vendors & M fafew|

What is the full form of OLAP ?

OLAP &1 0t &9 #1 § ?
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(vii) Define Artificial Intelligence Systems.
sTfefRivre secivim famm =1 wRufog wifsw)
(viii) Define MPEG format with suitable example.

SUIRT AR & Y TAUSST T ol IR
hIfSTT |

Section-B 4x12=48

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 12 marks.

T us—a
(g I q99)

o .- fF=l 9 9w & SW SfSul o9 eTue S< Wl
srfererae 200 gl W 9fEifqa wifsw) s 999

12 371 &1 B

. Explain various network topologies with neat

diagrams.

fafier Jeae ISt 1 e [entesl & WY THAR |

. Explain the System in terms of characteristic and

various types.

oo iR fafys gori & w<Y § System i =&
Hifg |
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